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&:(2000) AFBIOHEHI 2 (2100) RS L 235+ 5 (2110)23H 2 HMS M (CIR)AS  HAEZR  HMAE: (210) 2 XA EENEEEE)
ot = PSR I = m)
— of Ao N Hl - A = ol %
X 28 HE MM = o & | = oA = -
(%) 7,000
(21 7,000
oXMHSKNEZA 253 = 2,000
() 1,000
(71 1,000
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XX SRS 3,022,930 2,680, 169 342,761
o1&
3,022,930 2,680, 169 342761101 MHXHMBAABEE2
oEHEHAE QUMS EE 3
1,200,0002 x 189 = 226,800
(71 226,800
oAl -2 HAWE EFXMH =X
64,000,0002 x 5HA x 75% = 240,000
(%) 80,000
(71 160,000
oXH AW N20tY 9,498,0002 x 17HA x 50% = 80,733
(71 80,733
CTIDHAELAUAL T2 29 47,968
(%) 15,989
(21 31,979
CEAGSED 2 4,065,0002 x 5004 x 75% = 15,244
() 5,081
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(71 10, 163
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(21 21,816
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oMEFHEDNASY = 165,864
(%) 86,445
(21) 79,419
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X (2000) AFBIDHEEH  2+:(2100) DS L 235t 5:(2110)25 " ZZ S ME:(QUB)HS - HAEB2  HAHIE:(220) KHA A EENEERED
ot = P I = H ml
of &b o AF = 9l =
& 2.8t HIE M AIE =2 of A | = A 2
5,091,400 4,078,300 1,013,100(01 X SHBAB X2

oAZHE 4 = 4,515,000
ocHHSHAENHEES

3,000,000 x 16IHAIZ x 30% = 14,400
oxAHE 2L 29

10,000,0002 x 23HA x 30% = 69,000
oHAUHO o J|EEHA}L 20,000,0002 x 30% = 6,000
oA oI 2,000,0002 x 160HAIZ x 30% = 9,600
oA XI|IZ=AE LHUT

5,000,000 x 2JHAIZ x 30% = 3,000
oxAWE =0l2| 4

2,000,000 x 16IHAIZ x 30% = 9,600
oXAE =0tz FAHUF 10,000,0002 x 30% = 3,000
oEAUE HUEHOIAl SHA}L 10,000,0002 x 30% = 3,000
o3 HAWE AlgMSmZ2 @

2,000,000 x 16IHAIZ x 30% = 9,600
oX A Z2got3

2,000,000 x 16IHAIZ x 30% = 9,600
oAl -2 HAE XA

2,000,000 x 16IHAIZ x 30% = 9,600
oHIHREDN2Y 10,000,0002 x 7IHA x 30% = 21,000
ofAE ZEnA 29

10,000,0002 x 1304 x 30% = 39,000
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&:(2000) AFBIOHEHI 2 (2100) RS L 235+ 5:(2110)23H 2 " HMS M IRAS - HAEZ2|  HAE: (220) KA AL 2] [oe @]
ok = 7S I R == ] m}
O]l At o A = Il =
I 2 S MIE. NIMIE =2 O]l A oM = A 2
o MI593 TOIMSHE JNE = 300,000
oN133 SLXOHQIME MEKX = 70,000
402
0IZHRH=0] 20,000 30,000 A 10,000
bS]
20,000 30,000 A10,000(01 It XtEE =X
o HAUSSASHEH JsEX = 10,000
O HAHZFALHME JsEX = 10,000
403
XX SRS 6,650,000 4,063,000 2,587,000
ol ™
6,650,000 4,063,000 2,587,000|01 XXIESH S =
OMEHESANL(2SH) AUXZTCIZA(10IHAIZ) = 1,300,000
SHOIEEXR OIXACIEZA(16IMAIR)
40,000,0002 x 32IHA x 50% = 640,000
oS HRIZ2FMSHME AHE = 500,000
oEHAIE ZHIBAY
200,000,000 x 2AlZ = 400,000
o M5958 ZOIMKHE HHBY = 1,200,000
CEHREH HEYXA = 300,000
OXMENQE)ML=A AE = 200,000
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2 (2000) AFRIOHEH]  2H:(2100) R L 25| &:(2110) 23 22 " M= Mg (213 ME - HAEd22]  MAIE: (220) XA A [(2H] [ :HH]
t = ST I == e Im]
G & = 0 x
X 2 B NIEE. HIMIE = o & M = A 2
CARD MESAE L B482 S(PO0L)
4,220,000,000& x 50% = 2,110,000
N = & H 101,926,750 97,233,415 4,693,335
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